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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For each
- One of them is the carrect answer. Make your choice
oval (1,2, 3or 4) on the Optical Answer Sheet.

(20 marks)

4 The length of the whiteboard in the classfoom is about

() 3m
2 10m
3 20m
4 30m

2 Round off 3 587 614 to the nearest fen thousand.

(1) 3580000
(2) 3588000
(3) 3590000

(4) 3600000

3 Express 4 tens, 42 tenths and 102 thousandths as a decimal.

(1) 4522
2) 40522
(3) 44.302
@ 4522

{1y 3p+3
(2} S3p+21
(3 11p+3
@ 11p+21

2 - {Go on to the next page)



§  If 125% of a nimber is 100, what is the nuimber?

(1) o8
() 125
3 8o
4 125

6. There are 60 members ina choir. 36 ofthemaré boys.
What is the ratio of the number of girls to the number of boys?

Yy 2:3
@ 2:5
(3 8:2
4 3:5

7  Which of the fcliqwi‘ng is the same as 7040 g? a

(1) 7 kg 49

2} 7 kg 404
(3) 70kg 4g
(4 70kg 40g

3 {Go on to the next pags)



Arrange the tanks below according to their volume, beginning with the smallest.

10 cem
4cm 5cm
" 5om [ /3 cm — V'dcem
5cm 3cm 4 cm
A B C
Smatlest Largest
(h A B, c
2 A C, B
3 B, C, A
@ C, B, A

Find the periméfer of the figure shown below. O is the centre of the circle.

(Take x= 272.)
(1) | 33cm |
(2 40cm
(3) 47cm
@) s8cm

4 {Go on to the next page)



10

11

12

In the figure below, AB is a straight line. ZAOD =71° and £COD = 138°.

Find ZBOC.
A
R 13°
@ 29
3) 42
(4 67

Mala is 11 years old now. Her mother is 25 years oider than her. What will their
total age be in 4 years’ ﬁme‘? -

()
2)
(3)
(4)

36

47

51
55

Megan had 16 pink beads and 24 yellow beads. She bought another 12 yellow
beads. How many more pink beads does she have to buysothatthe ratio
of beads which are pink to yellow does not change?

“y
@
@

'8 -.':
12

20

28

5 {Go on {0 the next page)



13

@

14

16

..(3}"

Su Ling ate - of the sweets and  of the cookies she bought from the shop.

2
equal number of sweets and cookies left. ‘
ver of cookies as a fraction of the number of sweats

Express the nur

1
(2)

Wit pid cilw o N

The ratio of the number of teachers to the number of pupils at a concert was

2 : 8. The ratio of the number of bays to the number of girls was 1 : 4.

There were 120 more girls than boys at the concert. How many people were at
the concert altogether?

(1) 150
@ 200
(3 210
@ 280

Noel has the same number of $2 notes and $5 notes in his wallet. He has a total
of $70 in his wallet. How many notes are there in Noel's wallet?
M 10

@ 14
3 20

{4 35

5 (Ga on to Booklet B)
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Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
For qu&:hons whk:h ' lt§, gtve your answers in the units stated.

(10 marks)

16 Whatis the missing number in the box?

88 x 1000 + 12 x 1000 = x1000- 10x 1000

17 Evaluate40+8+ (45-5)~-3x2

18  How many ninths are there in 2% ?

2 {Go on'to the next page)



19  Express 2-3— as a decimal correct to 2 decimal places.

| .An.é:-

20  Aprinter cost $200. During a sale, it cost $140. What was the percentage
discount given for the printer?

Ans:. v - %

21 100 g of red beans cost $0.50.
Mrs Neo bought 1.6 kg of red beans.
How much did she spend?
Ans: §

3 _ {Go on to the next page)



22  Alex, Ben and Coliin shared the cost of a presentintheratio1:2: 5
respectively. What fraction of the cost of present is Collin's share?

Ans:

23 The ratio of the tenegiﬁ ofa recfapgie to the breadth of the rectangleis 4 : 1.
The perimeter of the rectangle is 2 m. Find the breadth of the rectangle.

24  Inthe figure below, WXYZ is a square and ZXWS =9°, Find ZSWY.

W X
s
z Y

4 {Go on io the next page)



25 Inthe figure below, AB, CD and EF are straight lines.
Find £n.

5 .- {Go on to the next page)



Questions 26 to 30 carry 2 marks each. Show your working clearly and write your
aniéwers in the spaces provided. For questions which require units, give your
answers in the units stated.

o - (10marks)

Ans: $

27  Bala drew a circle, a square and a rectanglo on a piece of paper as shown
below. The ratio of the area of the circle to the area of the square fo the
area of the recfangle is 5: 9 : 27. What is the ralio of the shaded part to the
area of the unshaded part?

O

6 {Go on to the next page)



28  ABCE is a parallelogram. ADE is an isosceles triangle. £ABC = 71°.
Find LABC ‘

Vv

N

20 Hani bought 5 caps at an average price of $30. -
After buying another cap, the average price of all me caps became $29.
How much did the 6th cap cost? }

Ans: $

7 (Go on to the next page)



30 The pnoe of a duldﬂcket to the zoois szAn aduit ticket costs thrice as much

h change, in terms of 2, will she receive?

Ans: $

End of Paper
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QuesM‘!toScanyZmatkseach Showyourwoﬂungdeaﬁyandwﬁteyour Do not write
wmﬂtespawspmvided Forquesﬁonswhzch require units, gnve your in this space

W

Ahmad, John and Ming shared the cost of 21 mghﬂghters in the raho 2:3: 5
respectively. How much did Ming pay?

Ans: $

2 enrsy bought - kg of sweets. She gave —2—6 kg of it to her sister.
She then dxstnbuteé the remaining sweets fo her friends. Each friend.
received ?5 kg of sweets. How many friends did Jenny give her sweets to?

2 {Go on fo the next page)



3 - Abigail saved $60 in June. This was 20% more than her savings in May. Do not write
' Mat'was Abigail's savings in May? in this space

Ans: $

4 A quadrant was drawn inside a square as shown below. The area of the
square is 49 cm?. Find the area of the shaded part. (Take n = ‘-—)

3 ' (Go on fo the next page)



5 The diagram below shows an.equilateral triangle. [t is folded along the Do not write
dottad line as shown below. Find Zy. In this space

4 {Go on ta the next page)



10 18, show your working clearly and write your answers in the
;gThenwnberofmﬂcsavaﬂablelsshownmb:ackets[ Jatthe

. (50 marks)
;- Ja :$44.75 for 1 chicken pte and 9 egg tarts.
Be!le paid'$: 8.50 for cmcken p|e and 12 egg tarts.
Find the cost of 5 chicken pies
Ans: . 31

7 A seamstress had some buttons.

She used — 1 ofthem on Monday and — 5 of the remaining buttons on

Tuesday. She bought another 144 buttons and then had as many buttons as
she had at first. How many buttons did she have at first?

Ans: @

Do not write
in this space

5 {Go on to the next page)



8 The bar graph below shows the number of visitors to a theme park in one Do not wite
day. in this space:

100

Chifldren

(@) Each visitor needed a ticket to enter the theme park.
- How many fickets were sold altogether?

(b}  The theme park collected $3 480 from the sale of tickets.
The ratio of the price of each child ticket to each adult ticket to each
senlor citizen tickst is in the ratio 2.: 3 : 1. How much rmneywas
collected from the sale of the children’s tickets?

Ans: (a) . ]

(b} N 7

6 (Go on to the next page)



9 Nell had 25% of the number of stickers. Rani had. Do not write
--Réirhad 20% less stickers than’ Weéiriing in this space
if Nel had 45 stickers, how many sfickers d!d Weiming have?

A @

7 (Go on to the next page)



- 10-  Thefigure belowis made up of 7-identical rectangles. Do not write
‘ F'Nﬁleafeaoﬂheswmangie in this space

Ans: B

8 {Go on to the next page)




a&kﬁbmammgm P, Q,RandS. |Donotwite

ThemﬁarofAreaPtoAmaQisZ $and in this space
;-f'iss 2. Aréa Sis- 383 ecm®.

9 (Go on to the next page)



- 12

In%the igure below; ACDE is atrapezium and DEF is an isosceles triangle. | Do notwite
- ZAF ;" 104“ and DBIIEA. in this space

 Ans:(a) - 12

e s i o) 2

10 (Go on to the next page)



(a)
®)

How many local stamps were left?

B Ans: (a)

11

Do not write
1 In this space

{2

2
(Go on to the next page)



14  The table below shows the number of books sold at a bookstore in a week. gﬁﬁ:lmwme
o - . is space

Sunday L

(a) Whatwas the total number of books sold frmnMonéayto Sunaay?
. Expre ;__youranswerintemzsofbmthej:'f___,_ t

(b)  if b= 30, how many more books were sold on Satar«iay than on
Sunday?

PO I
® _ _

12 ‘ {Go on to the next page)



16

‘The figure below is made up of a semicircle and 2 quarter circles. Do not write

()

Fmdthearea, »
(Teke 7 =3.14)

13

Ans: (2) _

(b) _

PQis "26 cm. .The ratio of the radius of the semicircle to the radius of the in this space

B

2]

(Go on to the next page)



16.

Study the patiern below.

@
(b)
(©)

DT AR e T T o

14

Do not write
in this spzoc

. Number of | Number of Number of
Figure 1 ‘ .
- dots | _ sticks triangles
1 3 3 1
2 ) 9 4
3 10 18 9
4 15 30 16
6 28 @ 2 36
11 (b) ?
How many sticks are there in Figure 87
How many triangles are there in Figure 117
How many dots are there in Figure 157
Ans: (a) 1
® ]
fo)._ {21

{Go on to the next page)



 Ans: (@),

Do not wiite
in this space

2

®).

B

15

{Go on to the next page)



18

_James had 234 cubes. The.length of each cube is 3 em.
Heusedaﬂthewbestomakeawbord Thebaseofﬂwecuboadlsshown

(@)  Find the height of the cuboid formed.

(b}  If hedecides to use the cubes to form another cuboid with a

- square base of edge 18 o, how maty cubes wifl ot be used?

Ans: (a) 12

S RESERIESY

'END OF PAPER

16
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Paper 1

1) 1 2) 3 3)3 4) 1
72 84 - 93 102
13)3 14)4 15) 3

16) 88+12 = 110-10
Ans: 110

17) 5+40-6 = 39

18) 7/3+1/9 = 21

19) 2.56

20) 60/200x100% = 30%

21) 1600/100x$0.50 = $8

22) 5/8

23) 20 cm

o

26) 2046 = 3 R2
PR,

3x5=15
1542 = $17

5 3
11) 4

6) 1
12) 1



27)4:18+5 =4:23
28) 180°-71° = 109°
29) 30x5 = 150

29x6 = 174

174-150 = $24
30)100-(3zx2+3z) = $(100-9z)
Paper 2

1) 21+3x$4 = $28
$28/10x5 = $14

2) 3/4-3/20 = 3/5
3/5+=1/10 = 6 friends

3)100/120x90 = $75

4)N49 =7
114x22/7x7x7 = 38.5 sq cm

5) 60-22 = 38
38+2 = 19
180-60-19 = 101°

'6)3eggtarts-18501475 375 *
9eggtarts =3.75x3=11.25

1 chicken pie = 14.75-11.25 = $3 50 o

5 pies = 5x$3.50 = $17.50... ..



7) 2u — 144
1u - 144/2 = 72
72x7 = 504

8a) 130 tickets
b) $1920

9)

N'eiminﬁ :

Ran

N et

€45

45x5 = 225 stickers

-10) 7u -- 56 :
5u -- 5/7x56 = 40
1/2x56x40 = 1120 sq cm

11) 11u - 363
21u -- 21/11x363 = 693
693x2-= 1386 sq cm

12a) 180°-104° = 76°
76°+76° = 152°
180°-152" = 28"

b)) 7628 =104"

180°-48° = 132°
132°-104° = 28°



13a) 2L+3F =186

1L+2F = 109

2L+4F = 218

Difference between foreign stamps, 1F = 218 186 = 32
b) 2F = 32x2 = 64

1L = 109-64 = 45

14a) 5bx5+4b-5+3b+8 = 25b+4b+3b+8-5 = (32b+3) books
b)  4b-5-3b-8 = b-13 = 30-13 = 17 books

15a) Arc length of big semi-circle = 3.14x10 = 31.4

Arc length of small semi-circle = 3.14x5 = 15.7

Perimeter of figure = 31.4+15.7+20 = 67.1 cm -
b) Area of figure = 1/2x3.14x10x10+1/2x3.14x5x5 = 196.25 sq
cm

16a) 3x21 =63 sticks
b) 1x11 =121 trlangles
c) 1/2x16x17 = 136 dots

L savings 6% (4uc)

17)
Denc s

CGilen

Lsaving$s

- a) 5% $40

T 105% — 105/5x40 = $840
b)  40%--$320 |
 2u-—-$320
8u — $320x4 = $1280
212% - $1280+$840 = $2120
112% - 112/212x$2120 = $1120
$1280-$1120 = $160



234 + (6x6) = 6.5
6Xx6x6 = 216 |
234-216 = 18 cubes will not be used






